Run 12066, integration on 12 samples

HG pedestal [ADC]

y (m)

2.5

1.5-
-1
1.01 g‘:‘i 4 X
o .t. .i ® % R _2
G el aa
0.5 : 2" _
:o .‘::‘.fxr.}.ou‘ J : ?’%}n ’
—_ e f ™ : . b e
@e —
€ oo) T i Ll | |
” Lot ”' s ¢ 1’.0?‘. -5
‘ﬂ’.’:. (...:(0 LR,
N B | |f-s
oW A *3*. ~.
> N F 2R Y
—1.01 3 v 0? —7
—1.5- | | EngilneeringCIameraFrlame -8
-1.0 -0.5 0.0 0.5 1.0
X (m)
HG pedestal std [ADC]
34
10. &rz‘» .
: v
132 3.“3;;2?7 4y
0.5‘ ..xg .‘“n“ .‘$
Sede :foo.: 1 ﬂ:
~ TV, }..f_’tfoto__
£ oof i Ve SAvh LAY
S | eomegeyl B0 B z"ﬁ,‘ 30
® p R TV .. .J‘
1 P 5 AV iy, 4
05 IR AN AL
e @
32 VPl et 28
. ‘..1 .3 °
—1.01 . t
“ B
| | EngilneeringCIameraFralame 26
-1.0 -0.5 0.0 0.5 1.0
X (m)
2 ]
120 B HG Median -6.59, std 2.12
100 -
80
u
X 601
o
40 1
20
O_
-12.5 -10.0 -7.5 -5.0 -2.5
HG pedestal
B |G Median -5.45, std 2.11
100 -
80 A
wn
o 60
X
o
40 1
20

O_
—-12.5 -10.0 -7.5

-5.0
LG pedestal

—2.5

1.5

1.5

1.0

0.5-

0.0 -

—0.5 71

_1_0_

—1.51

80 1

pixels

LG pedestal [ADC]

EngineeringCameraFrame

~1.0 -05 05 1.0

X (m)

LG pedestal std [ADC]

DTGP PR XTI M o
Bt
“ ot.o & e o L BV B
S
e
o
| | EngilneeringCIameraFlrame
-1.0 -0.5 0.0 0.5 1.0
X (m)

28

26

24

22

20

24

B Median 30.23, std 2.36

26 28 30 32

HG pedestal std

34

36

20.0

22.5 25.0 27.5
LG pedestal std

B Median 23.55, std 2.43

30.0



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 12066, pixel O
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Run 12066, pixel O
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